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Quiz Date: 25th March 2020 

Directions (1-7): Read the following passage carefully and answer the questions given below it. Certain parts are 
given in bold to answer some of the questions based on the passage. 
 
“It was the best of times, it was the worst of times.” Charles Dickens’ memorable phrase perfectly describes 
the world of today. Health and science have advanced as never before. Yet health systems in many countries 
remain ill-equipped to combat the ongoing COVID-19 outbreak. We are interconnected more than ever 
through digital platforms. But the online glue that binds us together virtually has – ironically – sown and 
amplified real-life divisions, even hatred. There are many casualties in this challenging global scenario – truth, 
compassion, basic decency. And, not least, human rights and gender equality. 
 
These twin pillars have underpinned landmark global frameworks ever since the founding of the United 
Nations itself 75 years ago – from the UN Charter of 1945 and the Universal Declaration of Human Rights of 
1948, all the way to the Programme of Action that emerged from the 1994 International Conference on 
Population and Development (ICPD) in Cairo and, a year later, the Platform for Action from the Fourth World 
Conference on Women in Beijing. The collective and complementary vision of all of these guide the 2030 
Agenda for Sustainable Development and its Sustainable Development Goals, including Gender Equality. Yes, 
gains have been made on several fronts globally, including in Asia and the Pacific, in recent decades. 
 
But efforts to advance ICPD, the Beijing Platform and the SDGs are under sustained and concerted attack on 
multiple fronts in this age of escalating conservatism. The very concept of gender equality is under threat – 
and “gender” more than ever serves as a rallying cry for those who would perpetuate patriarchy, sexism and 
harmful practices against women at multiple levels of government and civil society. These attacks take aim as 
well at the rights and well-being of individuals of diverse sexual identities, those living with disabilities and 
indigenous peoples – groups that have long been marginalized and excluded by society. 
 
We need governments to demonstrate genuine leadership and be held accountable – with ICPD, Beijing and 
the SDGs as the yardsticks to be measured and judged by. We need civil society and communities to be 
empowered and ever bolder and courageous, to do what is right for women and girls around the world. The 
#MeToo movement to combat sexual harassment, for example, has gained global traction, but far too many 
voices remain silenced. We need to forge a coalition of those who are already champions and those that still 
need to be convinced by enabling genuine dialogue – using our interconnected, online environment to unite, 
not divide. 
 
 We need robust, disaggregated data on women’s rights and gender equality to reveal where needs are the 
greatest, and ensure the inclusion of those furthest behind. The kNOwVAWdata Asia-Pacific initiative, 
gathering data on the prevalence of violence against women to spur governments to act, is a strong example. 
We need to always remember that __________(I)_________. Without human rights, there will simply be no 
gender equality or women's empowerment – and without gender equality, there can be no realization of 
human rights. Twenty-five years after ICPD and the Beijing Platform for Action, let’s remain true to the ideals 
of the remarkable frameworks that were, after all, crafted collectively by countries themselves. Talk is cheap. 
Gender equality, women’s rights and human rights cannot be values we simply aspire to, but must be regarded 
as the very foundations that ground humanity itself. These must serve as our collective lodestar, as we 
navigate this decade of action on the SDGs to a better future for all. 
 
Q1. The repercussions of supporting the ideas that are against the notions of gender equality are-  
 
(a) ordinary individuals fall prey to any discrimination that exists within the society 
(b) policies which usually prohibit rights of women become a usual norm   
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(c) prerogatives of individuals who are usually treated insignificant are targeted  
(d) both (a) and (c) 
(e) all are correct 
 
Q2. Which of the following have been considered “twin pillars” by the author which have been frequently 
undermines for years? 
 
(a) human rights which guarantee gender equality  
(b) truth and compassion  
(c) gender equality and human rights  
(d) basic decency and elimination of gender based inequality  
(e) none of these 
 
Q3. Which of the following is not true in context of the information given in the passage? 
 
(a) Notwithstanding the developments within the field of health, many countries are still grappling to tackle 
COVID-19 pandemic.   
(b) The goals laid down at prominent events and in charters are being jeopardized in the times where people 
are opposing any changes.    
(c) The data on women’s rights can help investigate the areas where the need for improvement is widely 
required 
(d) Both (a) and (c) 
(e) All are correct 
 
Q4. How does the writer suggests to counter damaging consequences of not being able to ensure gender 
equality? 
 
(a) The government must emerge as the frontrunner  
(b) The role of civil societies must be enhanced  
(c) Establish cooperation between the trailblazers and those who aren’t certain for the cause  
(d) both (a) and (b) 
(e) all are correct 
 
Q5. The primary idea of the given passage is-  
 
(a) Women’s crucial role in peace and security is often overlooked 
(b) Women human rights defenders are ostracized by their communities and seen as a threat 
(c) There can be no human rights without gender equality 
(d) Economic and social discrimination results in fewer and poorer life choices for women 
(e) all are correct 
 
Q6. Which of the following is opposite in meaning with ‘complementary’, as highlighted in the given passage? 
 
(a) requited  
(b) discordant  
(c) apportioned  
(d) reciprocal  
(e) none of these 
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Q7. Which of the following phrase could fit in the blank (I) to make the statement grammatically correct and 
contextually meaningful? 
 
(a) ensuring women’s human rights requires 
(b) gender stereotypes must be dismantled, so that women are no longer 
(c) there are treaties and expert bodies specifically dedicated to the realization  
(d) sets an agenda for national action to end such discrimination 
(e) gains achieved should never be taken for granted 
 

 
 

Directions (8-15): In the given questions, a statement is given with four bold words. These words may or may not 
be correct in their corresponding position. Following each statement four options are provided suggesting the 
possible arrangement of the highlighted words. Choose the option corresponding to the correct arrangement. 
 
Q8. G-20 finance ministers and central bank governors will meet challenge (A) on a regular basis to continue 
discussion(B) and take virtually (C) actions needed to address the global urgent (D). 
 
(a) DBCA   
(b) ADBC 
(c) CABD 
(d) CBDA 
(e) No rearrangement required. 
 
Q9. Infosys had management (A) stock exchanges of having received anonymous(B) whistle-blower complaints 
alleging certain unethical(C) practices by the top informed (D). 
 
(a) DBCA   
(b) ADBC 
(c) CABD 
(d) CBDA 
(e) No rearrangement required. 
 
Q10. The company said it has investigation (A) a concluded (B) from the SEC stating that the received (C) has 
been notification (D). 
 
(a) BCAD 
(b) ACBD 
(c) CDAB 
(d) CBDA 
(e) No rearrangement required. 
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Q11. Emerging(A) economies will be hammered(B) given the collapse(C) in oil and other commodity prices(D). 
 
(a) ABDC 
(b) DBCA 
(c) BADC 
(d) DABC 
(e) No rearrangement required. 
 
Q12. The lungs and respiratory compromised (A) in smokers are already prone (B) to various extents hence 
they are more severely (C) to be tract (D) infected by SARS CoV-2. 
 
(a) ABDC 
(b) DBCA 
(c) BADC 
(d) DABC 
(e) No rearrangement required. 
 
Q13. In the future, machine-learning and AI will analysis (A) the bandwidth of data and increase (B) to adjust (C) 
robots to self-learn and self- enable (D). 
(a) ABDC 
(b) DBCA 
(c) BADC 
(d) DABC 
(e) No rearrangement required. 
 
Q14.  Before the commodities (A) of strict lockdowns by the respective state governments, many people got 
into a phase(B) of panic(C) buying of essential imposition (D). 
(a) ABDC 
(b) DBCA 
(c) BADC 
(d) DABC 
(e) No rearrangement required. 
 
Q15. We continue to witness the classic behaviour(A) of people rushing to buy and even hoarding (B)the 
absolute discretionary (C) and deferring essentials (D) spending. 
 
(a) ABDC 
(b) DBCA 
(c) BADC 
(d) DABC 
(e) No rearrangement required. 
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Solutions 
 
S1. Ans. (c) 
Sol. To validate the answer, refer to the third paragraph, which mentions, “These attacks take aim as well at 
the rights and well-being of individuals of diverse sexual identities, those living with disabilities and indigenous 
peoples – groups that have long been marginalized and excluded by society.” Referring to the quoted text, we 
can infer that the statement given in option (c) is correct in context of the given question.  
 
S2. Ans. (c) 
Sol. Among the given options, the author makes the mention of twin pillars for “gender equality and human 
rights”. Hence, option (c) is the most suitable answer choice. 
 
S3. Ans. (e) 
Sol. None of the given statements is incorrect as per the information available in the passage. Hence, option 
(e) is the most suitable answer choice.  
Option (a) *Paragraph 1+: “Health and science have advanced as never before. Yet health systems in many 
countries remain ill-equipped to combat the ongoing COVID-19 outbreak.” 
Option (b) *Paragraph 3+: “But efforts to advance ICPD, the Beijing Platform and the SDGs are under sustained 
and concerted attack on multiple fronts in this age of escalating conservatism.” 
Option (c) *Paragraph 5+: “We need robust, disaggregated data on women’s rights and gender equality to 
reveal where needs are the greatest, and ensure the inclusion of those furthest behind.” 
 
S4. Ans. (e) 
Sol. To validate the answer, refer to the fourth paragraph of the above passage, which mentions, “We need 
governments to demonstrate genuine leadership and be held accountable; We need civil society and 
communities to be empowered and ever bolder and courageous; We need to forge a coalition of those who are 
already champions and those that still need to be convinced by enabling genuine dialogue.” Referring to the 
quoted text, we can infer that the statements given in options (a), (b) and (c) are correct in context of the 
given question. Hence, option (e) is the most suitable answer choice.  
 
S5. Ans. (c) 
Sol. Among the given statements, the statement given in option (c) well defines the primary idea of the 
passage. It can also be corroborated from the last passage of the paragraph, which mentions, “Without human 
rights, there will simply be no gender equality or women's empowerment – and without gender equality, there 
can be no realization of human rights…..Gender equality, women’s rights and human rights cannot be values 
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we simply aspire to, but must be regarded as the very foundations that ground humanity itself”. Hence, option 
(c) is the most suitable answer choice.  
 
S6. Ans. (b) 
Sol. Among the given words, ‘discordant’ is opposite in meaning to ‘complementary’. Hence, option (b) is the 
most suitable answer choice.  
Discordant: (of two things) so different in nature as to be incapable of coexisting 
Requited: make appropriate return for (a favour, service, or wrongdoing) 
 
S7. Ans. (e) 
Sol. Among the given phrases, the most suitable phrase to fill in the given blank will be “gains achieved should 
never be taken for granted”. No other phrase could make the statement both grammatically correct and 
contextually meaningful.  
 
S8. Ans. (d) 
Sol. As the given sentence is elaborating on the current outbreak of COVID-19 and how G-20 ministers are 
going to virtually discuss various issues to tacking the ongoing crisis, so the correct arrangement to use to 
make the given sentence both grammatically correct and contextually meaningful would be CBDA. Hence, the 
correct answer choice would be option (d). 
 
S9. Ans. (a) 
Sol. As the given sentence expands on the certain anonymous tip being received by Infosys regarding unethical 
practices being carried out by their top brass , so accordingly the correct arrangement to use to make the 
given sentence both grammatically correct and contextually meaningful would be. Hence, the correct answer 
choice would be option (a). 
 
S10. Ans. (c) 
Sol. As the given sentence talks about some company receiving a notification from an authority regarding the 
conclusion of a case hence, the correct arrangement to use to make the given sentence both grammatically 
correct and contextually meaningful would be CDAB. Hence, the correct answer choice would be option (c). 
 
S11. Ans. (e) 
Sol. As the given sentence is elaborating on how emerging economies will have to face the brunt of the 
economic collapse in the market, hence looking at the word placement we can already make out the sentence 
is correct. Hence, the correct answer choice would be option (e). 
 
S12. Ans. (d) 
Sol. As the given sentence is describing about the enhanced risk that smokers face if infected by COVID-19, so 
the correct arrangement to use to make the given sentence both grammatically correct and contextually 
meaningful would be DABC. Hence, the correct answer choice would be option (d). 
 
S13. Ans. (c) 
Sol. As the given sentence is elaborating on the future of robots and how they would become better and more 
capable, so the correct arrangement to use to make the given sentence both grammatically correct and 
contextually meaningful would be BADC. Hence, the correct answer choice would be option (c). 
 
S14. Ans. (b) 
Sol. As the given sentence talks about panic buying that had sparked among people as soon as the lockdown 
was announced, so the correct arrangement to use to make the given sentence both grammatically correct 
and contextually meaningful would be DBCA. Hence, the correct answer choice would be option (b). 
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S15. Ans. (a) 
Sol. As the given sentence is elaborating on the behaviour of people who showcase the tendency to hoard as 
well panic buy goods without thinking much, so the correct arrangement to use to make the given sentence 
both grammatically correct and contextually meaningful would be ABDC. Hence, the correct answer choice 
would be option (a). 
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